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Instructions for the Candidates

Write your roll number in the space provided on the top of this page.

This paper consists of fifty multiple-choice type of questions.

At the commencement of examination, the question booklet will

be given to you. In the first 5 minutes, you are requested to open

the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.

(ii) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing or
duplicate or not in serial order or any other discrepancy
should be got replaced immediately by a correct booklet
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be replaced
nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B), (C)

and (D). You have to darken the oval as indicated below on the
correct response against each item.

Example : ® O
where (C) is the correct response.

5. Your responses to the items are to be indicated in the OMR Sheet
kept inside the Paper I Booklet only. If you mark at any place
other than in the ovals in the Answer Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant entries,
which may disclose your identity, you will render yourself liable
to disqualification.

9. You have to return the test question booklet and OMR Answer
Sheet to the invigilators at the end of the examination compulsorily
and must not carry it with you outside the Examination Hall.

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table etc., is prohibited.
12. There is no negative marks for incorrect answers.
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EARTH SCIENCES

Bexmos - 11

Paper - 11
neRa 85 BT (50) 2B SRR SO TINRRFniecRn) B dcdromd FFotwe ST (2)

BN BRST. OV, TINYIR LuZoR.
Note : This paper contains fifty (50) objective type questions. Each question carrying two (2)
marks. Attempt all questions.

1. eme;%éciﬁ':b QRN BTFO% INF BOIVRZS 1. Meteorites are classified based on their

(A) wom=s (A) Appearance
(B) pusnsd (B) Compactness
(©) wey, (C) Colour
(D) o (D) Composition
2. gaRied momPEmEY, weiecEte . The percentage of oxygen contained in
SENHIBE Jev Twed Earth’s atmosphere is
5) e (&) 75%
(B) 50%
©) 21% (B) 50%
(D) 32% () 418
(D) 32%

3. PAAMOT FRODFT TRFRIOBL OB
VLRSI, B BOWLIFT T TWEWTOTING
(A) Rrodberswoed Aogpearmon Bogs SO
VGeIE BT,
(B) Rrors Soeed Boggpearmon Praocdd
Sosh VT FoTPFTY,
(C) 30693 o 03 20 NYTRER BRE BOCIRNAS

(D) Bed3P) cInRep @0,

4. 3o B W OTRA"S ﬁoau’cips 298etz ned
BuE FRReend B8 B3e3nd SoRBRORS
(A) Br03TT

(B) &30
(C) SBedwena abg%zpaﬁ
(D) wemna gyen

. The chromosphere and cozona can be

seen from the Earth when the

(A) Sun is totally celipsed by the Moon
(B) Sun is totally celipsed by the Earth
(C) Both A and B above are correct
(D) None of the above

. Fe-Mg rich silicates are move abundant in

(A) Crust

(B) Mantle
(C) Outer core
(D) Inner core
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5. FpeBRe VTROT IR)NY SBOIST SHT 5. Moho is the boundary between

Sesdodnndd (A) Mantle and crust
(A) &m0 302 BeOSTE

(B) 0030m080 @33 853089
(C) =08 23, BRoERna Sogen

(D) BR0mNRT ST EN [0 LYPns
R en 6. Which of the following minerals is
5

(B) Asthenosphere and mantle
(C) Mantle and outer core

(D) Outer core and inner core

normally used for dating of rocks ?
6. 2oEFLRNY FUTRY ANQRRTAILD BRTFIN

(A) Tremolite
8 FINSPYNTE oI a)auﬁddgt WERNZS ?

(A) gsngi (B) Zineon

(B) d:%da‘ (C) Zoisite

(©) SpFe (D) Diopside

(D) odng = 7. The first vertebrates appeared about
7. 3330 83008 03nEd WL WoTT), (A) 540 m.y. ago

(A) 540 OCHT® DAY &ood (B) 470 m.y. ago

(B) 470 Q0d0a* @&t e &odd (C) 490 m.y. ago

(C) 490 20dchs TR &0l
(D) 400 000" SR &0T

(D) 400 m.y. ago

8. Which one of the following pairs is not
8. &3 FINIPYNFY_ cInpomd eI TOSRN
BROEFFERMRAL, ?

(A) Ryer-nO3a

correctly matched ?
(A) Durite-Olivine
(B) Penidotite-Olivine + Pyroxenes

(B) J0BRtr-eO87 + Q0BT
(C) Gabbro-Hornblende + Quartz

© m;s?godxae—ma‘r e3ocd + RELE
(D) 20085t~ (008"

(D) Pyroxenite-Pyroxenes
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9. worEdend 6@293&:&33.2{ 8e330D STRTHE @,
QIR RoBeR) BRI ? B 8N AeERT
Aogednvon Reg e:sod.%odaadgl S0/0

1) Beer

ii) e,
iii) g R

iv) Bedde
DnedeIned :
(A) m&%w—mm%-%ds‘fu%ea‘-e?e@
(B) g Ania-Brdgir- it deeF
(C) Beer-Gur AR - womne’ ;s BrddE®
(D) Beer-wpmet - GRrF AR ~BRdgET

10. 203050853 20O TLI/ALTIS 2,08 rboﬁdgt
& 0ed BoodeRnR)

(A) btor B3
(B) t.0° @aoer

(C) wo* w»d

(D) to* ¥Re*

StudySite.org

9. Which is the correct code for indicating
the increasing order of the hardness of

rocks ? Select from the codes given below
1) Shale

i1) Basalt

iii) Limestone

iv) Dolerite

Codes are :
(A) Dolerite-Basalt-Limestone-Shale
(B) Limestone-Dolerite-Basalt-Shale
(C) Shale-Limestone-Basalt-Dolerite

(D) Shale-Basalt-Limestone-Dolerite

10. A group of inter connector ore bodies are

called
(A) Ore district
(B) Ore deposit

(C) Ore body
(D) Ore chaster
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11. 13 Tedpdom HOBODD 20w weiT wRe@A0.
R033 8910 DeBRT HodeInva) wIrBROR
RocIne wogosy woly AP0

3,1

B3 2

1) odndeacddo 1) emgzseﬁaﬁséeiﬁeb

i) gew 2) mgt b
iil) sy 3) ©n3dnsh
iv) ai)%ori’aea—s 4) Fe0RRE0:30 dSND
Roge3nsh :
11 i v
A2 1 3 4
@1 2 3 4
4 3 2 |
™3 2 1 4
12. 35 3NTYNLY, 03nFpomd Fpeer, BRBERE
©TTedoioR), BRORE 7
(A) W Fpe,
(B) me

(C) oBowots Fpert,
(D) e Fpeer,

13. SamEowm Mee@ods deeRboman Bwo
PP 3 ﬁ&)oeaﬁ% AR
(A) L3Tgm e,
(B) o=='r @
(C) o’ g,
(D) S0ed3P) canemp @
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11. Match the list I with list II and select the

correct answer using the codes given

below
List-1 List - II
i) Uranium 1) Ultrabasic rocks
i1) Chromite = 2) Granitic rocks

ii1) Copper 3) Volcanic rocks

iv) Manganese 4) Metasedimentary

rocks
Codes :

1 i1 in v
A2 13 -
@1 2 3 4
4 3 2 1
™3 2 1 4

12. Which one of the following folds has
horizontal axis ?

(A) Fan fold

(B) Nappe

(C) Recumbent fold
(D) Chevron fold

13. A fault in which the hanging wall has

moved up relative to the footwall is
(A) Overthrust fault

(B) Reverse fault

(C) Tear fault

(D) None of the above
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14.

15.

e oIT IVTENY YPToTIF D
QTR RAURZT

(A) SomZnd oas/Fpedor®

(B) SomgRYes ecsoned

(C) eR8RTmNtxRs SQTRINTO

(D) sams Somdnd

PRROD TR B0 BT =0 =, 0T
roeegangord

(A) PrdoBEnh ) TN weRTedT edd
(B) donzore a3 wocdusbory

(C) moc30m00BY 302 wesoEw

(D) doosere &03) wumory

16. =onc Z8e3T Jeedrish SeRrieged s2den

(A) RR0g Reos 356, 0003
(B) gedo@nd wodneod
(C) R0 38,

(D) ®=0g 2¢3

17. Roodg d&neh BreRrieged 59080

(A) 03redxfdanBe” woZe0
(B) oomooddd soz0w0e
(C) yRe7 w=z0

(D) modonddess® ud e
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14. Repetition of the beds on the surface

could indicate

(A) Folding of the beds
(B) Faulting of the beds
(C) Unconformable beds
(D) Shearing of beds

15. The two major structural and topographic

features of the Earth are

(A) Continents and Ocean basins
(B) Lithosphere and atmosphere

(C) Atmosphere and hydrosphere
(D) Lithosphere and hydrosphere

16. Mid-oceanic ridges are formed on the

(A) Surface of sea water
(B) Continental margins
(C) Ocean floor

(D) Sea shore

17. Clastic sediments are produced by

(A) Priogenchemical weathering
(B) Chemical weathering
(C) Physical weathering

(D) Diagenetic alteration
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18. 3nY geradodd D303 JRREFIOMOIRTN 18. Identify the correct sequence of
561 308 eR)NY FRRINE SIITBARR) sediments in the order of their decreasing
- =

risdaans grain size

" (A) Cay-silt-sand-breceia
(A) zée@dowgg—éﬁdommm-a:bd#e— 232035

B) Silt-clay-brecia-sand
(398 Reg Reg BoRNL) (B) Silt-clay-brecia-san

(C) Silt-clay-sand-breceia
B) %ﬁ&dss&gﬁ—zﬁe@&s&g@-@a@n-dgdﬁa
' (D) Breceia-sand-silt-clay
© éﬂ’doa:bsa.g;&e@dasag_;abdejo—zgam

(D) BaesR-co0e-drcRomy- deasbny 19. An example of chemical weathering is

(A) Splitting of a boulder

19. 5om0038 JWORTE, 2,00 YVTRBOH30TT o .
g (B) Grinding of pebbles into sand

(A) BB woRnY) BREDBRERTTO
(B) RegReg enyrie sodsbriean (C) Cleavage of a feldspar crystal
BORTRBRW (D) Rusting of hornblende
(C) Pormop® Sobngan Fexbagmd
(D) Ser &5 TRF Lo/ o) BEO Q03 20. The composition and texture of a residual
el ™

For* 8 mF W soil is principally controlled by

20. AR Red/ Ed woed3 Hocdmenss &) (A) Bedrock

T23si0do0 [N ACDOZROBRYTO (B) Rainfall

(A) voos (C) Vegetation cover

(B) =% D) T -

emperature

(C) e=orass AR &

(D) zo==3ns3 21. Conglomerate is a
21. 3aeny Rodeess/3onnd 0 Tod RS (A) Rudaceous rocks

(A) CrmRcIR® orEBLNT (B) Arenaceous rocks

(B) ex8mEon wordseansd
(C) esrirSeactm® seonsd
(D) Boeday) conayesp o8

(C) Argillaceous rocks
(D) None of the above
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22. PrIoondTow ToN&ooT O IR [wo

F0E9ONT

(A) ﬁwjad 203

(B) $2ee0503Q0E 86ned Secemncss
TONKCD AT (7 0 - ° 23)

(C) Brdood Roeontndtos LOFT =B

a;oaafp:
(D) graocdh s¥EncEdos u@féaf

23. 3e8oTIT 0 BN Feod WORIT BRTES

‘& Zoonind TR B B3 TRNEHT SRDI
©0300E) SVOERNOIS

(A) 103 &n - 143 an
(B) 45 an - 103 an
(C) 45 an - 60 an
(D) 103 &n - 103 &

24. P00 80307 PNt HTBRT, FBIBOCD
BT Y ?
(A) Breood Sewwo
(B) SBrdyena deog@ocd
(C) 39yna ==
(D) e0308 deokdemont

25. o esddsa% BTN LJon:z5on 3oN3S%S
36303 TEOR BT

(A) dnTocd/dcnzorEy

(B) R Re s30T/ Frdocd) 3$T33
(O) moxborw
(D) Beoyend Seod
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22. Earth’s magnetism is due to the presence of
(A) Fe in core
(B) Si-Mg rich rocks in crust

(C) Olivine and Pyroxenes in upper

mantle

(D) Mg-Fe silicates in lower mantle

23. From 0° focus of the Earthquake ‘P’ wave

shadow zone occurs in the area between
(A) 103° - 143°
(B) 45° —103°
(C) 45°=60°
(D) 103° - 103°
24. Which is the only uniform region of the
Earth’s interior ?
(A) Crust
(B) Outer core
(C) Lower mantle
(D) Inner core

25. Name of the partly melted rock layer on

which the plates move is
(A) Lithosphere

(B) Asthenosphere

(C) Hydrosphere

(D) Outer core
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26. 3" B0k BT TRINY IS TSI
(A) B0 =00 (B) ¥ es30en
©) ﬁoees%ﬁd JI38 (D) $dpena S

27. O3 BooHT FEEROTE FxwD e MNP
Zgodonoss
(A) 833 37
(B) ws* or®
(C) T IR
(D) Sed330Rp

28. 3e5ou FopRt ot ©TC FeomRordsdr
QU BRTUBI), I SYRRRY0 WHRTRNIS
TBR0D BTSSR, et elevelopTpoc oy
(A) ‘& Zdormwoson &g 3

(B) ‘»=" g0crwo3one $eg 3

(C) ‘& I3 ‘ax” Soredony S wds
3eg 3o SR

D) ‘& =) ‘2% SoomeeIoNY SNRITT
SRR RG5030T ERQ

29. TBYT0F Foed 030 HFECRYTOT X2

TTTOLT TepDOT eBTFod0

(A) %e@e@e@c‘—%&i@e@ww—
SR e} £OR07 - 00T RERFOIT®

(B) aoodadrae%eoﬁac‘-daﬁmﬁi}ecﬂam—
ﬁ&&ae&eodoc‘—dge@@%eoﬁacf

(©) %@ixaeﬁgod:c‘—&i@,eﬁpe?&eodws—
SRR R0~ DOIFR R ETT

(D) ﬁaﬂme%@@c‘—%&i@%@oﬂac‘—

= =02
DOFREAFOIT - £33 R R 03007
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26. Convection currents generate within the
(A) Outer core
(B) Inner core

(C) Upper mantle
(D) Lower mantle

27. The major geologic process at divergent
plate boundaries are
(A) Tensional stress
(B) Block faulting
(C) Prasaltic volcanism
(D) All of the above

28. The most useful tool in understanding the

distance of an earthquake to its epicenter is

(A) Intensity of the ‘P’ waves

(B) Intensity of ‘S’ wave

(C) Difference in intensity between ‘P’
and ‘S’ waves

(D) Time interval between ‘P’ and ‘S’
wave arrival

29. The correct sequence of the atmospheric
column in the order of increasing
elevation is
(A) Troposphere-stratosphere-

mesosphere-ionosphere
(B) Ionosphere-mesosphere-
stratosphere-troposphere
(C) Stratosphere-troposphere-
mesosphere-ionosphere
(D) Mesosphere-stratosphere-
ionosphere-troposphere
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30. sgr3ein ant GEReamnG
(A) 23eRe0IQTT DeOT o Jaes
(B) @pe0nondnes deds o Demnes
(C) 92300 QRR Ve LR, Fwed
(D) RoedIBewe

30. Humidity is the amount of
(A) Water Vapour in the groundwater
(B) Water Vapour in the crust

(C) Water Vapour in the atmosphere

(D) All the above
31. =gy e B3 cdoR Bedas® Roadeen
BoPRFOYS T odood ang, 83, cTNFTO
(A) 287 (T, Beea)

31. Collision coalescence process of
precipitation in applicable to

(A) Cirrus
(B) ReerEnsd Pregcronad)s 53&3!_?&33 &3

(B) Clouds that extend beyond freezing
D7 BRI

level

(C) Bre@End PRE0RRMT Sou808 eedrt
DR Brieg TR
(D) R0eday) cdnadesp ©e)

(C) Clouds that do not extend beyond

freezing level

(D) None of the above
32. 35 FINIIYNYY BRI 2ot F RS I

32. One of the following is not a component
SRIFT TLITTN,

of hydrologic cycle
(A) Seei@ 83 (g Aegorr)

(A) Cloud seedling

(B) =898 = L
= (B) Precipitation
(C) sacimmong
(C) Evaporation
(D) Foeg ob BBRDE/ eSS

(D) Surface runoff
33. Zozacnd Feor da; ézigs cﬁuﬁodaémd &

33. A large wind system that rotates about a
TRRETY_ ML STSFHROTEY VRO

tre of a high atmospheric pressure is
LBEIR), &ert FCDRMZS centre of a high atmospheric pre
(A) Roouome (A) Tornado
(B) w&mor Dodnn werxs SRcoe (B) Anticyclone
(C) F0sb IRT= (mom :,-a'jjssg) (C) Sand storm
(D) BoE=n03 (D) Cyclone
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34.

5.

36.

s

SRTRC BE0TLIBRYOT NWSOIORRS IR
RTVEY BAONFY WNST WORNT WRCIRNHBN
T0ENIST 7

(A) tdnes® =03) Qogies®

(B) %@ﬁ eﬁidca‘ =R m‘egp‘ @, C:Si,ts"

(C) aoges =083 aomes § o8 &

(D) tByees ) aomes Seemt =
TIOZVWTHT R TOONTY RO SISFR)

SVOERNZS ?

(A) Bredpena®
(B) Rgdnergcdoo®
(C) SoReagcdo
(D) @ epergcioo”

BINT T,moB 0 TEFWONOD [,TBA
WP, 008 ReondR), ATeSTmeN TEELD
T,3,00NORRFTRTCINIG TTID SN
da_aooa’afdgt B3 Ded TR

(A) ©dnY FTBS BRBRRTAID

(B) SookEs) sesieemRcd

(C) vdnd) rsravRRYD

(D) eond sa3as Rewds

PRTOTITO0T @odnrodol TBESHeRS
BToMmCBTNYY &3 Oed BRI

(A) 2@

(B) odnd S

(C) Jeozad g

(D) e e:‘oa%dd e
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34. Which of the following two gases

38,

36.

31

produced by human activities are
responsible for global climate change ?

(A) Ozone and methane
(B) Nitrous oxide and sulfur dioxide
(C) Methane and carbon dioxide

(D) Ozone and carbon monoxide

The water cycle takes place in which

sphere of atmosphere ?
(A) Tropopause
(B) Stratosphere
(C) Mesosphere
(D) Troposphere

The processing of observed tidel current
data to obtain mean values of tidal

currents constant in called

(A) Reduction of tidal current
(B) Reduction sphere

(C) Reduction of tides

(D) Tidal reduction index

Waves generated by underwater

earth quakes are called
(A) Tsunami

(B) Wave currents
(C) Tidal wave

(D) Neap tidal wave
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38.

3.

T,é OTT TIODTE, YVOKRNOT 2WOTD e8¢
QO ) B¢ TR HZTH 0T SRR
81 068 BSOS

(A) Q033 odnd ez

(B) G003 odnd gmom

(C) =3 HITFR FStoron Fmas o
(D) mesng edned

TR LARORTIT BTTE LB TREBT w0edT
BBy FINT TYUQYONYTT 8, FOTR, B 0ed
BOODTNIR) T

(A) wawrode ed o

(B) dwred3 eadap”o‘

(C) =y wd o

(D) Roed3y) conayeip &),

40. =531 BT RoBeBNTR) WA KT TewTnemy

nocodad
1) B3R roessdesrs BT 0w BTSR0D
T3 Bord WIS,
i) T LOTI, YoM wo*
nesRBesen 3richennidd.
iii) FRrusndF T WIT nedodw LTI,
LONROE DTSRRI, RedodnNG
iii) rbonF BEed S GEReE Eeey
For) WA
ZoBe3Inh :
(A) 1i, i, iii =03 iv aPried oot
(B) Femwiii, @02 iv axnsd ROcdRNES
(O) iv 353 ocdnnd
(D) ii &= iv FOcIRNS

38.

39,

40.
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The tides which have one high and one
low water per tidal day are called

(A) Mixed tides

(B) Diurnal tides

(C) Semidiurnal tides

(D) Normal tides

An aquifer that is bounded above and
below by impermeable beds that contains
water is known as

(A) Unconfined aquifer

(B) Confined aquifer

(C) Parched aquifer

(D) None of the above

Identify the correct statement using the
codes below

i) High grade Fe ores are found in

Kudremukh region

ii) Copper ore is being mined in
Ingaldhal mines

iii) Hutti is the only producing gold
mines of Karnataka

iv) Limestones are abundant in
Gulbarga district

Codes are :

(A) 1, 11, i1i and iv are correct

(B) Only 1iii and iv are correct

(C) Only iv is correct

(D) 1ii and iv are correct
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41. éwf T@wees ao:%tsre)ddgfae‘;q FIEILTOTNT

(A) Beerndd,

(B) wxiy @ogae,
(C) sntey e,
(D) BrdgEs

42, &37_55 TRREIT D0TEIST Fesodnw ForLITOD

o,

(A) 33w
(B) oo
©C) ws®

(D) z:?isa 2230005

43. T FeuT's Rty TS rinedro*
Qeﬁn‘ a9, FeRwTHBT

(A) ¥SnYAnpFTT MOOPndS),

(B) &nd AnnroT foddon ﬁaeo%rf
(C) &8ng AnerT® modd Idemn

(D) aouigrsy’ H5dE sotws Srodr
44. %00T POT HLI/RONT® TONT T,yRde

BT BRI VBB
(A) Romd hosomtned

(B) 54¢T sedciod DRodene Tomoned

(C) #oypna 2308 OBTBBRIS BmE
BRSNS

(D) sozenrndd,  wmn
BRTITNED

VoINS

45. 8 IPNIPNIY, R 2,000 SHOTTOWT
QORI WRUTNG, ?

(A) #e?_,cg;w
(B) Fednedado
4 %Fo’ﬁ?ﬁ’ 0
(D) o evsg

41.

43.
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Large quantity of groundwater can be
found in

(A) Shales

(B) Karst regions
(C) Massive granites
(D) Dolerites

42. The largest continental flood basalts are

found in

(A) Canada

(B) India

(C) Japan

(D) South America

Gorur Gneisses in stratigraphic succession
of Dharwan Craton lies

(A) Within the sargur group of rocks
(B) Above the sargur group of rocks
(C) Below the sargur group of rocks
(D) Along the intrusive tectonic contact

. The vigorous action of Himalayan rivers

in the past is proved by

(A) The inspiring gorges

(B) Sedimentary beds of Kashmir valley
(C) Hanging valleys at lower altitudes

(D) Frequent shifts in the courses of the
rivers

. Which one of the following is not a

non-conventional energy ?
(A) Coal

(B) Petroleum

(C) Natural gas

(D) Geothermal
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46.

47.

49.

50.

NI DTSRI 84 FENTPYNFE cdnagpomd

RordsRecd HomvR)otPNLIBIT 9

(A) & WRTIDIT TR 080D WBRTH

(B) 23, memo® gomnd e mEedd.
QAPI0D :

(C) BRoq=uEY 208

(D) =3 oedISe

TOENTROTE, B3 womd e TI0DTN
DRV TITETINLILITI

(A) @omor WERNGE

(B) nedmoddoines R@ERNBORNE RBRreN0s
(C) Funenas wEnd

(D) Bor's wrond

8 RoFemes 80300 BBFOOT BITTLTY,
83 BN SoROTRNT DR BRRSS

(A) vomed &, o8, &

B) wouss

(O) sxE3 & o8 &

(D) 00033 cndp 99,

méa‘a*fhas‘mh 2 AT SN TETouE
(3e2=0) Regaoncs ?

(A) ager

(B) Jeer

© cjjab‘%ea‘/z‘oeamds%

D) me

790 14,000 IFFNY &oT Fadnnor

LTI Dodesn BURJTOT 2NEE Foeed o
TSRS

(A) 10 &n RO
(B) 16 an O
(C) 8 an FOcwr
(D) 5 &n FOcHx*
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46. Which of the following potential dramatic

47.

48.

49,

50.

effects could be brought about by global

warning ?

(A) A regional shift in agricultural
production

(B) A decrease in world-wide grain
production

(C) Raising sea-level
(D) All of the above

The most frequent source of air pollution
is due to

(A) Carbon emission

(B) Emission of dust due to mining

(C) Nitrogen emission

(D) Sulfur emission

Photosynthesis increases the level of the
following component in the atmosphere
(A) CO2

(B) H

© O2

(D) None of the above

Which of the following bedrock is best
suited for a dam site ?

(A) Phyllite

(B) Shale

(C) Limestone

(D) Granite

Rise in the global surface temperature
since the last ice-age which ended 14,000
years ago is

(A) 10°C

(B) 16°C

(C) 8°C

D) 5°C
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